Enkelvoudige lineaire regressie (simple lineair regression)
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Table 4.1  Standard errors for selected sampling distributions

Sampling distribution Standard error Comments
Means _ o Even if the population is not normal,
%%~ \/7’7_ the sampling distribution of means is
nearly normal for n > 30. In all cases,
MKy = Mo
Proportions ip(1 - p) 'bq See comments for the sampling
o, = |———=,[— distribution of the mean.
n n
Medians The sampling distribution of the
Oped =0 o 1.2533¢ median is nearly normal for n > 30, as
Y 2n n the population approaches normality.
Himeg = M-
o
Standard deviations (1) os= The sampling distribution is nearly
2n normal for n > 100. As population
oy — 14 approaches normality, (1) applies; if
(2) o,= ¢ 2 population is not normal, (2) can be
4nju, used. For 2100, u, =o.
Variances 1 =2 2 See comments for standard
(1). op= Py deviations. p,, = 6*(n — 1)/n, which
approaches o? as n becomes large.
My — Ky
() o.=
First and third _ _ _1.36260 See comments for the sampling
quartiles %, =%, = Ve distribution of the median.
Semi-interquartile 0.7867¢ See comments for the median.
range 9q=
vn

Note: See Table 3:2 for moment designations.

In the bivariate case, the standard error of the
slope coefficient estimator can be calculated by:
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Extending this to the two variable case yields formulae for
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Finally, we can go one step further and derive a formula for the standard
error of the partial slope coefficient estimator for a model with any
number of independent variables:
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